
ECAT Mathematics Chapter 23

Sr Questions Answers Choice

1 Which symbolic notation represent unary operation ?
A. -
B. ∨
C. ∧
D. ⇔

2 Which conjunction is not true ?

3 Power set of difference set N-W is
A. Empty set
B. Infinite set
C. Singleton set
D. {0,∅}

4 Question Image
A. A onto B
B. both a &amp; c
C. A into B
D. none of these

5 Question Image
A. a-b=ab
B. ab=a
C. a+b=ab

6 Group of none-singular matrices under multiplication is
A. None-Abelian group
B. Semi group
C. Abelian group
D. None of these

7 Z is a group under
A. Subtraction
B. Multiplication
C. Addition
D. None of these

8 The identity element of a set X with respect to intersection in P(x) is
A. X
B. Does not exist
C. ∅
D. None of these

9 The extraction of cube root of a given number is a
A. Unary Operation
B. Binary Operation
C. Relation
D. None of these

10 The negation of given number is a
A. Binary operation
B. Unary operation
C. Relation
D. None of these

11 A conditional is regarded as false only when the antecedent is true and consequent is
A. True
B. False
C. Known
D. Unknown

12 A disjunction of two statement p and q is true
A. p is false
B. q is false
C. Both p and q are false
D. One of p and q is true

13 A conjunction of two statement p and q is true only if
A. p is true
B. q is true
C. Both p and q are true
D. both p and q are false

14 (A∩Bc)c= -------------------------
A. Ac∪Bc
B. Ac∪B
C. Ac∩B
D. None of these

15 For a set A, A∪Ac= ---------------------
A. A
B. ∅
C. Ac
D. U

16 A∪(A∪B)= --------------------
A. B
B. A
C. A∪B
D. None of these



D. None of these

17 (A∪B)∪C= --------------------------
A. A∩B(B∪C)
B. A∪(B∪C)
C. A∪(B∩C)
D. None of these

18 If B⊆ A, then complement of B in A is = -----------------------
A. A-B
B. A∩B
C. B-A
D. A∪B

19 If A=B, then
A. A⊂B and B⊂A
B. A⊆B and B⊈A
C. A⊆B and B⊆A
D. None of these

20 The set X is
A. Proper Subset of X
B. Not A subset of X
C. Improper Subset of X
D. None of these


